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1. 6 37 BIA A DI TS a1 4 IFhiT 7L A I HEw F A= Fwed | 1
Find the difference of the least number of 6 digits and the greatest number of 4
digits.

2. Al 12 Yz A4t o1 e 240 %o 2, dt 8 Yk ARyt 1 gew v EM 7 1

If 12 packets of pencils cost Rs. 240, what will be the cost of 8 packets of pencils ?
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T FR ) s g Ter 20 Hiet ua 12 Wiet? | 39 FR F ¥ 1 few o ford 4 Hie
VST ATl STieh 2Tge shY i gt ¢ 1

The length and breadth of a room is 20 meter and 12 meter. What will be the

number of square tiles to cover the floor of the room, having arm length of 4 meter
?

T HR 9.45 79 9Td: 80 forrto / He1 R et @ Ieft, 98 R T T=aed St 300 feho Hw w
2, e o Tgh 7 1
A car starts with a speed of 80 km/hr at 9.45 a.m. What will be the time, when the
car will reach its distination 300 km away from the starting point.

T Qg 1,500 %o & @l # 1,600 To # s=1 741 | Wiawra @ fepred | 1

A Mobile was purchased for Rs. 1,500 and was sold at Rs. 1,600. Find the
percentage of profit.

A= <t 778 3T Y S AB i T e | 1
Find the length of the arm AB of rectangle given below .
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Teh SRR ST 1 8t 512 9 et @ | afe ga wften 7t o, sasht <terd 1 gt
R, @ 39 avfia o1 ity Freeret | 1
The area of a rectangular garden is 512 sq meter. If the length of the garden is
twice the breadth of the garden, find the length of perimeter of the garden.

11 1
Wﬁ:i*iaﬁlgl 1
TR N S
|mp|fy.2-20 3
5.4, 0.75 31X 16.75 =1 O =1t | 1

Add 5.4, 0.75 and 16.75.

e e o il ol 1 orgura 20 4 : 3} Py & weR SR ww AW e |
Angles of a triangle are in the ratio of 2 : 4 : 3. Find the value of the largest angle

of the triangle.
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1)1 1 33 1

qEF: 1= +=x10-—12+1> F 1

1. i S it 6%113|
1 1 1 3 3 1

WAL By A b -
Simplify : 2+_,><102 14+ 6of13.

12. 9, 12 U& 18 %1 AW GHTISE A H |
Findthe L. C. M. of 9, 12 and 18.

4
13. 1055, T IS 1 R |

4
Find the square root of 1056_4'
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14. frdtHend g 40 o E | e # fak 28 BT Iufedra & o srand % fhan wfowa s wan d
sufera @ 7 3
The total number of students in a class is 40. In class only 28 students are present,

find out the percentage of students absent in the class.

15. i Eem @ NEa i 26 ? | Afe wEeh @ gE T FHAN: 26 3R 34 7, @ el T I
T | : 3
The average addition of three numbers are 26. If the first and second numbers

are respectively 26 and 34, find the Third number.

16. 4,000 %o FT 40% fra1 0 & 6,000 Fo & 30% & ? 3
40% of Rs. 4,000 is how much less than the 30% of Rs. 6,000 ?
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17, d Rt § wed 9 ot @ B R 1 9 g 3

Find the sum of the largest fraction and smallest fraction of the given fractions.

1212
3'5'5'3

18. e THIOTRT Byl §, Teh e, TER 0T 8 T 91 8 A FFaH B R AR A | 3
In a right angle triangle one acute angle is four times greater than other. Find the
measure of the smallest angle of the triangle.

19. 15 fime 1 g1 =1 forqar wfdea 2 7 3

What percentage is 15 minutes of 1 hour ?
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20. (103)2 — (5)2 =1 9 fiehred | 3
Find the value of (103)2 — (5)2.

21. < sHETT iRl 1T 111 ] | T qUiTeR 1 HHE 0@ | 3
The sum of three consecutive integers is 111 (one hundred eleven). Find the

value of each integer.

22, aﬁA,Bﬁ33%%axfﬁmwm%,a’tB,Aé%wgﬁmmm%? 3

1
If Aearns 335% more than B, then how much percent does B earn less than A ?
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03, s TR AU SIS Y X A aut F ford Tt et R 1 2 g i 3% v A w T
STeft < 72 %o Aty fireran | Ui A R | 4
A sum was put at simple interest at a certain rate for two years. Had it been put at
3% higher rate, it would have fetched Rs. 72. Calculate the sum.
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